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l's ¢cp95 ¢ gdp95

EVi ews
equation eqcp95 —eqcp9s
eqcp95.1Is cp95 ¢ gdp95 - eqcp95
( )
series cp95 ~cp95
cp95=1 ~Cp95
series cp95=1 ~cp95
table out(1,1)=1 ~out 1

equation eqcp95.Is cp95 ¢ gdp95 — eqcp95

LOAD



declear

Table (table )
(table )(1,1)=( )
(table )(1,1)=" “
(1,1 1,2)
(2,1) (2,2)
2 setline
setlin( )
setline(tab,2) tab 2
1
Table tabl

tabl1(1,1)="coefficient”
tabl(1,2)="t-value”
show tabl

tab
table tab

equation eql.ls cp95 c gdp95

tab(1,1)="coef(1)"
tab(1,2)="t-stats"
tab(1,3)="p-stats"
tab(1,4)="coef(2)"
tab(1,5)="t-stats"




tab(1,6)="p-stats"

tab(1,7)="Rbar2"

tab(1,8)="D.W."

setline(tab,2)

tab(3,1)= @coefs(1)

tab(3,2)=@tstat(1)

tab(3,3)=@tdist( eql.@tstats(1),@regobs-@ncoef)
tab(3,4)= @coefs(2)

tab(3,5)=@tstat(2)

tab(3,6)=@tdist( eql.@tstats(2),@regobs-@ncoef)
tab(3,7)=eql.@rbar2

tab(3,8)=eql.@dw

show tab

%X

%X CPI

Y%x="cpi"
delete tab{%x}1
table tab{%x}1
for next
for !lj=1to 18
gdp!j
Next

for next lj

%x="GDP”

%



equation eq!j.Is  {%x}!j-0.16-0.72*{%x}act(-1) dum  dum*{%x}act(-1)
scalar coefl!j=eq!j.@coefs(1)

scalar coef2!j=eq!j.@coefs(2)

scalar rbar2!j=eq!j.@rbar2

scalar dw!j=eq!j.@dw

scalar coeflp!j=@tdist( eq!j.@tstats(1),@regobs-@ncoef)

scalar coef2p!j=@tdist( eq!j.@tstats(2),@regobs-@ncoef)

scalar selj=eq!j.@se

tab{%x}1(!j,1)=coefl!j
tab{%x}1(!j,2)=coef2!j

tab{%x}1(!j,3)=rbar2!j
tab{%x}1(!j,4)=dw!j
tab{%x}1(!j,5)=selj

tab{%x}1(!j,6)=coeflp!j
tab{%x}1(!j,7)=coef2p!j

eqlj.wald c(1)=c(2)=0

next
show tab{%x}1

%x="gdpr"
delete tab
table tab

lcounter=1

subroutine maketable

scalar stder=@stdev(e{%x}18)
scalar stdact=@stdev({%x}act)
scalar stdavg=@stdev ({%x}18)

tab(Icounter,1)=stder



tab(!counter,2)=stdact
tab(!counter,3)=stdavg
tab(!counter,4)=Icounter
Icounter=!counter+1

endsub

call maketable
%x="cp"
call maketable
%x="ihp"
call maketable
%x="iop"
call maketable
%x="ipub"
call maketable
Y%ox="ext"
call maketable
Y%ox="mxt"
call maketable
%x="gdp"
call maketable
Y%ox="cpi"
call maketable
Yox="wpi"
call maketable
%x="iip"
call maketable
%x="frexda"
call maketable
%x="bopcrnt"

call maketable

show tab



| oad exm

equation none. | s exviusa ¢ iipus pdl (expiusa, 6,
equation near . | s exviusa ¢ iipus pdl (expi usa, 6
equation far. I s exviusa ¢ iipus pdl (expiusa, 6, 2
equation both. I s exviusa,c3)iipus pdl (expiusa, 6,
show none

show near

show far

show both

l oad unitgdp

for !'j=0 to 8

gdp95. uroot (c, !'j)

freeze gdp95. uroot (c,!j)

next

for !'j=0 to 8

gdp95. uroot (t,!j)

freeze gdp95. uroot (t,!'j)

next

for !'j=0 to 8

gdp95. uroot (n,!j)

freeze5gdpoot (n,!j)

next

pool01.1s(cx=f) growthl1? ligdp1? enrollg? aid? fdi? export? work? credit? credit?*infl?
tab(1,1)="coef(1)"
tab(1,2)="t-stats"
tab(1,3)="p-stats"
tab(1,4)="coef(2)"
tab(1,5)="t-stats"



tab(1,6)="p-stats"
tab(1,7)="Rbar2"
tab(1,8)="D.W."
setline(tab,2)

tab(3,1)= @coefs(1)

tab(3,2)=@tstat(1)

tab(3,3)=@tdist( eql.@tstats(1),@regobs-@ncoef)
tab(3,4)= @coefs(2)

tab(3,5)=@tstat(2)

tab(3,6)=@tdist( eql.@tstats(2),@regobs-@ncoef)
tab(3,7)=eql.@rbar2

tab(3,8)=eql.@dw

show tab

smpl @first @first
series y=10

smpl @first+1 @last
y=0.5+y(-1)+nrnd
smpl @first @first
series x=100

smpl @first+1 @last
x=0.1+x(-1)+nrnd
smpl @all

equation eql.lsy c x
equation eg2.ls d(y) ¢ d(x)
show eql

show eq2

gdp95.uroot(none,adf,save=mnone)
gdp95.uroot(const,adf,save=mconst)
gdp95.uroot(trend,adf,save=mtrend)

matrix(8,3) out



colplace(out,mnone,1)
colplace(out,mconst,2)

colplace(out,mtrend,3)

equation eql.Is cp95 c gdp95
egl.makeresids res01

equation eg2.Is d(cp95) d(gdp95) res01(-1)
show eql eq2

equation eqgdp951.-119 gdRpPSM)( MBApOBLaVI(bPRav(
calar ssrl=eqgdp951. @sstr
al ar regobs=@r egobs
al ar ncoef =@ncoef
on eqgdp952. 1i1s) goddRpPPB bel pdack paR T (
ar ssr2=eqgdp952. @sstr
ar Fsé(&8¥%f2)/ ( ssnrclo/e(fr)elgo b s
ar W=f * 2
al ar p=@chisqg(w, 2)
e
(
(

uat

nw u unun u o0 u u u
® ® 9 O O O O O O O
8}

—

test
1,1)=w
1,2)=p

show test

table tab tab

smpl 1980 2001 1980 2001

equation eql.ls cp95 ¢ gdp95 Is "eql”
tab(1,1)=@coefs(2) tab 1 1 2 gdp95
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smpl 1980 2002
equation eg2.ls cp95 c¢ gdp95
tab(2,1)=@coefs(2)

eql
eq2
eq3

=1 t=1+1 t=1+

t+2,t+3
2 n t+(n-1)
t+n-3

scalar obs=@obs(gdp95) -
for 1J=1 to obs-3 - t+k k

smpl @first @first+{lj}
equation eql.ls gdp95 ¢ @trend

scalar ssra=@ssr ~eql
smpl @first+{!j} @last ~
equation eg2.ls gdp95 ¢ @trend ~
scalar ssrb=@ssr ~eg2
smpl @all -

equation eq3.Is gdp95 ¢ @trend -

scalar ssr=@ssr ~eq3

scalar f=((ssr-(ssra+ssrb))/@ncoef)/((ssra+ssrb)/(@regobs-2*@ncoef)) ~

table out - out
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out({!j},1)=@otod({!j}+2) -
out({!j},2)=f

out ({!j},3)=@fdist(f,2,@regobs)
out({!j},4)=@regobs

out({!j},5)=@ncoef

next

show out

logl
append

Equation eql.ls cp95 ¢ gdp95
C(1)=eqgl.@coef(1)
C(2)=eql.@coef(2)
C(3)=egl.@se”2

equation Is.eql c¢p95 c gdp95
c(l)=@coefs(1)
c(2)=@coefs(2)

c(3)=@se

logl mlcp95

micp95.append @logl logll
micp95.append res=cp95-c(1)-c(2)*gdp95
micp95.append se=c(3)

micp95.append logll=log(@dnorm(res/se))-log(se”2)/2

micp95.ml

ARMA

[ml]

append



noMA MA(1) MA(2) MA(3)
AR(l)  7.215263 6.761484 6.466351  6.484631
AR(2)  6.380968 6.395975 6.412498  6.407816
AR(3)  6.405320 6.373856 6.375635 6.383247
AR4)  6.393103 6.385140 6.326474  6.349493

table tab

%ox="x"
tab(1,2)="noMA"
tab(1,3)="MA(1)"
tab(1,4)="MA(2)"
tab(1,5)="MA(3)"
tab(3,1)="AR(1)"
tab(4,1)="AR(2)"
tab(5,1)="AR(3)"
tab(6,1)="AR(4)"

equation eql.ls {%x}
tab(3,2)=eql.@aic
equation eqll.ls {%x}
tab(3,3)=eqll.@aic
equation eql2.ls {%x}
tab(3,4)=eql2.@aic
equation eql3.ls {%x}
tab(3,5)=eql3.@aic

equation eg2.Is  {%x}
tab(4,2)=eq2.@aic
equation eg2l.ls {%x}
tab(4,3)=eq21l.@aic
equation eq22.1s  {%x}
tab(4,4)=eq22.@aic
equation eq23.1s  {%x}
tab(4,5)=eq23.@aic

¢ {9%x}(-1)

c {%x}(-1) ma(l)

¢ {%x}(-1) ma(1l) ma(2)

¢ {%x}(-1) ma(1l) ma(2) ma(3)

¢ {9%x}(-1) {%x}-2)

c {9x}(-1) {%x}(-2) ma(l)

c {%x}(-1) {%x}(-2) ma(1) ma(2)

c {%x}(-1) {%x}(-2) ma(1) ma(2) ma(3)
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equation eq3.Is  {%x}
tab(5,2)=eq3.@aic
equation eq31l.ls {%x}
tab(5,3)=eq31.@aic
equation eq32.1s  {%x}
tab(5,4)=eq32.@aic
equation eq33.ls  {%x}
tab(5,5)=eq33.@aic

equation eg4.Is {%x}
tab(6,2)=eq4.@aic
equation eg4l.ls {%x}
tab(6,3)=eqg4l.@aic
equation eq42.ls  {%x}
tab(6,4)=eq42.@aic
equation eq43.ls  {%x}
tab(6,5)=eq43.@aic

setline(tab,2)

show tab

smpl @first @first
series y=10

smpl @first+1 @last
y=0.5+y(-1)+nrnd

smpl @first @first
series x=100

smpl @first+1 @last
x=0.1+x(-1)+nrnd

¢ {9%x}(-1) {%x}(-2) {%x}(-3)

¢ {%x}(-1) {%x}(-2) {%x}(-3) ma(1)

¢ {96x}(-1) {%x}(-2) {%x}(-3) ma(1) ma(2)

¢ {96x}(-1) {%x}(-2) {%x}(-3) ma(l) ma(2) ma(3)

¢ {9%x}(-1) {%0x}(-2) {%x}(-3) {%x}(-4)

¢ {%x}(-1) {%x}(-2) {%x}(-3) {%x}(-4) ma(1)

¢ {%x}(-1) {%x}(-2) {%x}(-3) {%x}(-4) ma(1) ma(2)

¢ {9x}(-1) {%x}(-2) {%x}(-3) {%x}(-4) ma(1) ma(2) ma(3)

<y 10

- nrnd
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smpl @all -

equation eql.lsy ¢ x <y X
equation eqg2.1s d(y) ¢ d(x) <y X
show eql -
show eq2

gdp95

uroot(const,lag=0)gdp95

gdp95

uroot(pp,const)gdp95

save mnone,mconst,mtrend
out colplace
out mnone, mconst, mtrend
gdp95.uroot(none,adf,save=mnone) mnone

gdp95.uroot(const,adf,save=mconst)

gdp95.uroot(trend,adf,save=mtrend)

matrix(8,3) out -8 3 out
colplace(out,mnone,1) < out 1 mnone
colplace(out,mconst,2)

colplace(out,mtrend,3)

out
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Cl C2 C3
78 83 83
5 0 0
t 1.18 -1.40 -0.51
P 0.94 0.58 0.98
11 11 11

equation

nw u unu u o u u u
® ® 9 O O O O O O O
8}

—

cal a
al a
al a

uat
a
a
a
al a
e
(
(

how

rrssrl=eqgdp951. @sstr

r regobs=@r egobs

r ncoef =@ncoef

pogde2e) 9 5 bel pgvdl R FR(V (

eqgdp952. @ssr

§%r2)/ ( ssnrclo/e(fr)elgo b s

hi sg(w, 2)

ion eqgdp952. {1s)
rossr2=
r FRséf¢
r W=f * 2
r p = @c
test
1,1)=w
1,2)=p
test
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